[ Efficiency vs vertpos |

- 0,1: - T T

Q.09 -+++eseseivesreresens e e
¢ F : :

e o

(8]
§0.07F

s F
5006§~
0.05E"

0.04

0.03fF -+ }
0.02F -+ f

[0 (0| =P F R
o ¢-UGE
T
14 [
iy

o
©
a

=
o

Efficiend

|
[N}

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
e

8 o | e

Ratio
N

il
: |||||IIIE||II|||| :

o
|
o

W
o

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
3
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

Sim. PV z (cm)



	Contents
	Page 1


